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Total number of permutations of ‘n’ distinct objects, taken ‘r’ at a time 
is denoted by-

npr =
𝒏

𝒏−𝒓



VALUE OF IMPORTANT FACTORIAL 

0! = 1

1! = 1

2!= 2 × 1 = 2

3! = 3 ×2 × 1 = 6

4! = 4 × 3 × 2 × 1 = 24

5 != 5 × 4 × 3 × 2 × 1 = 120

6! = 6 × 5 × 4 × 3 × 2 × 1 = 720

7 != 7 × 6 × 5 × 4 × 3 × 2 × 1 = 5040

8! = 8 × 7 × 6 × 5 × 4 × 3 × 2 × 1 = 40320

9! = 9×8 × 7 × 6 × 5 × 4 × 3 × 2 × 1 = 362880

10! = 10×9×8 × 7 × 6 × 5 × 4 × 3 × 2 × 1 = 362880
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In how many different ways can the letters of the word 'CORPORATION' be arranged so 
that the consonants always come together?
शब्द 'CORPORATION' के अक्षर ोंक ककतने अलग-अलग तरीक ों से व्यवस्थित ककया जा सकता
है ताकक व्योंजन हमेशा एक साि आएों ?

(A)86400 (B)2160 (C)12960 (D)14400 (E)None of these
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In how many ways word 'TROUBLE' can be arranged so that vowels always come 
together?
शब्द 'TROUBLE' क ककतने प्रकार से व्यवस्थित ककया जा सकता है कक स्वर हमेशा एक साि
आएों ?

(A) 120 (B) 90 (C) 720 (D)360 (E)240
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How many 3 digit number can be formed with the digits 5, 6, 2, 3, 7 and 9 which are divisible 
by 5 and none of its digit is repeated?
5, 6, 2, 3, 7 और 9 अोंक ों से ककतनी 3 अोंक ोंकी सोंख्या बनाई जा सकती है ज 5 से कवभाज्य है और
इसके ककसी भी अोंक की पुनरावृकि नही ोंह ती है?

(A) 12 (B)16 (C) 24 (D)20 (E)None of these



\
In how many different ways can the letters of the word 'PATHOLOGY' be arranged in such 
a way that all the vowels always come together?
शब्द 'PATHOLOGY' के अक्षर ोंक ककतने अलग-अलग तरीक ों से इस प्रकार व्यवस्थित ककया जा
सकता है कक सभी स्वर हमेशा एक साि आएों ?

(A) 30240 (B)15120 (C)5040 (D)40320 (E)None of these
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In how many different ways can the letter of the word 'TOFFEE' be arranged so that vowels 
never come together?
शब्द ‘TOFFEE' के अक्षर क ककतने अलग-अलग तरीक ों से व्यवस्थित ककया जा सकता है ताकक
स्वर कभी एक साि न आएों ?

(A) 36 (B)180 (C) 144 (D)720 (E)None of these
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How many arrangements can be made out of letters of the word 'INVERTER'?

शब्द 'INVERTER' के अक्षर ों से ककतनी व्यवथिा की जा सकती है? 

(A)720 (B) 40320 (C) 10080 (D)5040 (E)None of these
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In how many ways can 15 books be arranged on a shelf such that a particular pair of books 
will never be together ?
एक शेल्फ पर 15 पुस्तक ों क ककतने प्रकार से इस प्रकार व्यवस्थित ककया जा सकता है कक
पुस्तक ों का एक कवशेष ज डा कभी एक साि न रहे?

(A)14!× 13 (B)15!×14! (C)15!×2! (D)15!×13! (E)13×15!



COMBINATION
सोंचय



The different group or selection which can be made by taking some or all of a 

number of things are called combination.

कवकभन्न समूह या चयन ज कई या कुछ अवयव ों क ले कर ककए जा सकते

हैं, सोंचय कहलाते हैं।

COMBINATION = SELECTION

सोंचय = चयन





(i) nC0 = 1 

(ii) nC1 = n 

(iv) nCn-1 = n 

COROLLARY
पररणाम

(iii) nCn = 1 



nCr = nCn - r



Ex:- In how many ways can two men be selected out of 13 

men?
उदा:- 13 पुरुष ों में से 2 पुरुष ों क ककतने तरीक ों से चुना जा सकता है?



Ex:- There are 10 people in a party. If each one shakes hand with the 

other exactly once. Find the total number of hand shakes?

उदा:- एक पार्टी में 10 ल ग हैं। अगर प्रते्यक एक दूसरे के साि हाि कमलाते हैं

त हाि कमलाने की कुल सोंख्या ज्ञात कीकजये? 



Ex:- If number of Hand shakes = 66, Find number of people?

उदा:- कुल हैण्ड शेक = 66, व्यस्िय ों की सोंख्या ज्ञात कीकजये?



Ex:- Out of 17 players, there are 5 bowlers. Find the number of 

ways of selecting a team of 11 players which has 2 bowlers.

उदा:- 17 स्िलाकडय ों में से, 5 गेंदबाज हैं। 11 स्िलाकडय ों की र्टीम का चयन

करने के तरीक ों की सोंख्या ज्ञात करें कजसमें 2 गेंदबाज हैं।



Ex:- A committee of 3 members is to be formed out of 5 males and 4 females . Find 

how many committees can be formed consisting of- (i)   2 Male and 1 female 

in the committee.

उदा:- 5 पुरुष ों और 4 मकहलाओों में से 3 सदस् ों की एक सकमकत बनाई जानी है।

सकमकत में-

(i) 2 पुरुष और 1 मकहला से कमलाकर ककतने तरीक ों से सकमत का गठन ककया

जा सकता है।



Ex:- A committee of 3 members is to be formed out of 5 males and 4 females . Find 

how many committees can be formed consisting of- (ii) None female in the 

committee 

उदा:- 5 पुरुष ों और 4 मकहलाओों में से 3 सदस् ों की एक सकमकत बनाई जानी है।

सकमकत में-

(ii) सकमकत में क ई भी मकहला नही ोंह ?



Ex:- A committee of 3 members is to be formed out of 5 males and 4 females . Find 

how many committees can be formed consisting of- (iii)   At least 1 female in 

the committee.

उदा:- 5 पुरुष ों और 4 मकहलाओों में से 3 सदस् ों की एक सकमकत बनाई जानी है।

सकमकत में-

(iii) कम से कम 1 मकहला सकमत में ह ? 



Ex:- In how many different ways can a committee of 4 boys and 3 
girls be appointed from 6 boys and 8 girls?
उदा:- 6 लडक ों और 8 लडककय ों में से 4 लडक ों और 3 लडककय ों की एक
सकमकत क ककतने अलग-अलग तरीक ों से कनयुि ककया जा सकता है?



Ex:- A question paper has two parts, part A and part B, each 
containing 8 questions. If the students has choose 6 from part A and 5 
question from part B, in how many ways can he choose the 
questions? 
उदा:  एक प्रश्न के द भाग हैं, भाग A और भाग B, प्रते्यक में 8 प्रश्न हैं। यकद
छात्र भाग A से 6 और भाग B से 5 प्रश्न चुनते हैं, त वे ककतने तरीक ों से प्रश्न
चुन सकते हैं?
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